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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACORO03T-EcoNoMiIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions: 2x5=10

@- A5 e ez s

(a) Distinguish between stock and flow variables in Economics.
S TR W @ sifesn beraifm sef fafa v

(b) What is Okun’s law?
TP G PICF AT 2

(c) What is balance of payments?
G0 TFE I I 2

(d) What is transfer income?
BB R FICE AT 2

(e) Define MPC and MPS.
AT (SI51eRee! ¥ AET T LIS TREB A6 |

(f) Distinguish between autonomous and induced investment.
i e Oge R T =de i 3.

(g) Mention the functions of money.
e FrfREN Sred A

(h) What is hyperinflation?
Hyperinflation 1 &@% Jgif S F1F 31 ?

2. Answer any four questions: 5x4 =20
@-PF BIATD &ive2 Teq wies
(a) Explain why an economy’s income must equal its expenditure.
GB TR I S G YT HA I (o — 11 FA

(b) Distinguish between CPI and GDP deflator.
CoTe! Wi 5 % & O o1 frara «m =iy fafa @
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(c) What is meant by classical dichotomy?
e feRem s & q@ ¢
(d) What is meant by neutrality of money?
TR &SI NS 0O & QT ¢
(e) What is meant by inflationary gap in Simple Keynesian Model?
T (PPN NOeE [EIoa i q@10e & @R ¢
(f) Explain how aggregate demand curve can be derived using IS-LM framework.

IS-LM WOrEd AR (b ifEwt @t e A wat 3w — g s

3. Answer any fwo questions: 10x2 =20
-1 f6 &4res ez wies
(a) Explain how output, employment, price level and rate of interest are determined 10

under Keynesian Model. ,
T TCGE Geote, e, winwa ak Jowd 9 e fAdifde 20 — iyt sat
(b) What is multiplier? Discuss the concept of Balanced Budget multiplier using 2+8
IS-LM model and Keynesian model.
@I FICE 0 2 [S-LM T G (@A NG AR G IACTE @< QN0

A IR

(c) “Effectiveness of fiscal policy depends on the slope of LM curve” — Discuss. 10
“Rerriet Aifed IREIIRS! LM @eia 31 Boia fea 3 — S e

(d) What is full employment? How full employment is achieved in classical model — 2+8
Explain.
i T TR I I 2 FIPRIE qeece e spfAcs s wiets =1 o iR
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